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SRl K2l BN EE (S5 &)
_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Hnz2
= 23,004
= 5,751
= 9,585
308 X+XIEHHISOI & 38,340 38,330 10
= 23,004
= 5,751
2 9,585
05 XHXIEHRI2HR S 3 38,340 38,330 10
OXIZIAHBZOISIHOISS ALY 38,340,0009! 38,340
= 23,004
= 5,751
= 9,585
TN RPN =T E-EIEPIESE 600,000 300,000 300,000
= 480,000
= 36,000
2 84,000
308 XX EHHI S OI & 600,000 300,000 300,000
=l 480,000
= 36,000
2 84,000
05 XX SHHI R e 2 600,000 300,000 300,000
OXZIMAMDYIXIELAS  600,000,0008! 600,000
=l 480,000
= 36,000
2 84,000
A[E HSSS X2 4,537,924 4,909,997 A372,073
| 85,576
= 891,464
B 2 3,560,884
Zolises 245t 774,748 595,728 179,020
Il 85,576
= 21,464
= 667,708
B EN P2 578,000 381,000 197,000
307 21201 & 536,000 353,000 183,000
02 QIABNBE 20,000 0 20,000
OMEHSE SHXH 10,000, 0002 10,000
OR2EUET SN 10,000,000 10,000
03 MBIt H 2 X3 30,000 30,000 0
OuEZ M3 29 X 15,000, 0002 15,000
OMEZ MEHSSSSXA 15,000,008 15,000
04 QDB AL 486,000 323,000 63,000
OZOIH S5l AL X & 110,000,000 110,000
ONSL+H -S4 2 10,000, 0002 0,000
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SN

I3
B

2ot
M3 AW HSBE A
ol RoNSEE 248 (el:@g
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
QALY MEHEUHEHE &It XA
70,000,000& 70,000
OHE=EMEUS &A 30,000
0.M=3l 1,250,000& 120 &= 15,000
0.4 =3 1,250,000& * 1201 &= 15,000
OXlelatd 7IHAIZ2 M3 &It
20,000,000& 20,000
ONEZINZ2HINES2U S 20,000,000& 20,000
OZ0lo Y XAt 110,000,000 110,000
OZ0M=EUE Nzl X 30,000,000 30,000
OMEQOIG el At 5,000,000& 5,000
OHEIIIISEUHI MR K& 20,000,000& 20,000
OsMeEXFUHIIEIIKA 8,000,000& 8,000
OdaEZXIAFBE CHEIOHEIXIE  25,000,000& 25,000
OSSsSETCHANSHAIZEAE A 18,000,000 18,000
OdXEdHE R 10,000,000& 10,000
308 XAtXISHMSOIA 42,000 28,000 14,000
06 DRI BB EED 42,000 28,000 14,000
o111l NEesds 48X
4,000,000 *8IH 12 32,000
ONMEXZSSIIU MEE XHAIY
10,000, 000& 10,000
SHEFEAYE SUALXH 8,000 8,000 0
J| 4,000
== 4,000
301 LEtB A= 8,000 8,000 0
J| 4,000
== 4,000
02 &stz2Lsit3 8,000 8,000 0
OsHEd3 AR ES 2R
8,000,000& 8,000
J| 4,000
== 4,000
MEE NHASME 29 7,000 7,000 0
== 6,000
iy 1,000
307 QI2t01 A 7,000 7,000 0
= 6,000
iy 1,000
02 QI2tEAMNE X 7,000 7,000 0
OMEHSAIASAIE 2H 2,000,000& 2,000
& 1,000
o 1,000
OANZMEM=UHI=H 5,000,000& 5,000
== 5,000

_28_




SN 252
XM ZH: D
S Tt —

ool PUMSES

SH M HA(FA) - HRAE -

0x
I
=
[
2
=P
Rl
12
o
=
0l%
oy

e

rz
ne
>
0=

for

HEHESXNELN XA 88,320 104,640 16,320

H X

44,160
44,160

307 212+01 o

H X

88,320

44,160
44,160

104,640

A 16,320

IS X=X X =2 S

88,320,000&

H &

88,320

88,320

44,160
44,160

104,640

A 16,320

U

15,120

4,506
10,614

17,080

A 1,960

307 21Ztol &

U

15,120

4,506
10,614

17,080

A 1,960

[

Q
(N

o
N
o
0z

O
0z
]
b

H H
B A
08

H0

15,120,000&

Mk

15,120
15,120

4,506
10,614

17,080

A 1,960

MEHsZz 0y N2

Ml H1

12,240

3,672
8,568

12,240

307 212tol

U

12,240

3,672
8,568

12,240

12,240,000&

Mok

12,240
12,240

3,672
8,568

12,240

H X

44,160

22,080
22,080

20,928

23,232

307 212+01 ™

H S

44,160

22,080
22,080

20,928

23,232

ISXNEXN2E

44,160,000&

H

44,160

44,160

22,080
22,080

20,928

23,232

S

EURCH

21,908
15,336
3,286
3,286

9,840

12,068

307 212+01 A

21,908

9,840

12,068
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SN
X XH .
S Tt

el

2
HEEsS X
SES 243

M- BB Sl (B) - HIRAY - Ba S sk oy e 2
| 15,336
= 3,286
i 3,286
02 gl2tF a8 =x 21,908 9,840 12,068
OAE= H® 21,908,000& 21,908
| 15,336
L= 3,286
i 3,286
SN2 697,480 451,119 246,361
= 70,000
= 627,480
SSHSAE2Z 331,480 269,519 61,961
101 21 244| 22,637 22,639 A2
04 J12tHI2 2 Xt 22,637 22,639 A2
OZ2£2sd =
36,6903 221 +60 4,403
OB F=HEHY 36,6903 121 x45& 1,652
ONTESHTEHEL OIS Y
36,6903 32130 3,303
OZEZFHIHILe 36,6008 *101%602 2,202
OZBIMSHEFHIHIARY
36,690% 12160 2,202
Od=HMsZa & 8,875
0.7122 36,6903 x121%180 6,605
0.=Xt=4 36,6903 121+35¢ 1,285
0.=QALBEZ 7,890,000% *2.665/100 21
0.08EE= 7,890,000% x1.3/100 103
0.&4HEE= 7,890,000% *3.9/100 308
0.=20dH= 7,890,000& *4.5/100 356
0.L&IQYEEZ  211,000&*3.275/100 7
201 ZEt2FH| 127,667 74,904 52,763
01 AtR2tel 6,920 10,010 23,090
Oget=gH| 4,050
0.8a222|83 #¢ 100, 000& *5JH 2 #4 3| 2,000
0.82x+HE 250,000& *12] 250
0.8=JIUiH = 50,0003 34 A +12& 1,800
O=&l 2,870
0.2 I (Xl 7,000& 50170 2,450
0.cHZE Y| 7,000& 20130 420
02 E==2ZHl 120,747 64,894 55,853
o33z ¢ 106,294
0.&DJ1etH 7,946,000 7,946
0.2t/ PRUr=+2 110,000& <128 1,320
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Sf2b2
dgt H=sgs A&
SANLE2Y

= — NE &
N Z3 . CA(ZAH) - MPAY - BES e ‘@Eiﬁ Z
0.A0E222 6,6002 <122 80
0.871232 91,500
cAUMST MIIR3 30,000,000 30,000
OMEMSBY e 9,000,000 9,000
CZBHSEH MIIQ3 14,000,000%! 14,000
OMEMEMEH ®IIQ2 18,000,000 18,000
OHILIA, ZERE MJIQ2 6,500,000 6,500
0ATRR MSAEES M3
14,000,000%! 14,000
0.45t4+ER3 364,0002! « 122 4,368
0.83523 90,0002 * 128 1,080
OASEHI KXY 4,200
0.2ZHSAESXZl(HUAR HOESH
HEEAIA) 2,700
043 5,0002! *500 % 2,500
03tz 4,000} *50 200
0. AUMSRIIHA LR 24
500,0002 13| 500
0.4+LFIIHALHIKRN LS 500,0002 18| 500
0.HIIAL RN E 500,0002 13| 500
OU-4B R EAIH AL R X 2 44| 10,253
0 AHEF2EAIZCCTVIHH 2t
6,600,0002! * 13CH *8% 6,864
0 HIASESSET 770,00021 *9CH *8% 555
0 ASLESAET 1,980, 0002 *9CH *8% 1,426
0 IPZSAIAE 8,800, 0002 *2CH *8% 1,408
202 04l 6,000 4,800 1,200
01 2ot 6,000 4,800 1,200
OIS 24801H| 1000002 *501 + 1284 6,000
206 T 2 2,000 2,000 0
01 HE bl 2,000 2,000 0
O4+2Z2I8YI2, S, DAETY
500,0002! *43] 2,000
307 ©12H0I & 160,176 160,176 0
05 BI2t9IEta 160,176 160,176 0
O+YZ M= RIS 160, 176,0008! 160,176
405 RtaHE S| 13,000 5,000 8,000
01 MHA LS S| 13,000 5,000 8,000
OHNOIESZFI| 7Y 3,000,000 3,000
ORVHMSHE, AUMSZHEAIRLY
10,000,000%! 10,000
ARD MSALSS 226,000 181,600 44,400
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2A: Bat2tZ
o AME USEE X
@2l MsAE2d (9 E2
S A .S (FH) - NBAY - BHAS A} OH &EIE Hn=2
- o= T ° - = Rl e =5 0:”/&,% Lsa
401 A& HIZ 20HYI 226,000 181,600 44,400
01 Al &l 226,000 181,600 44,400
OZ33MsSAE=2elZES
6,000,000 *5JH £ 30,000
OotAedAI|I 2 A 10,000, 000& *2H A 20,000
OSHEAAINSANEES 6,000,000 6,000
OZ2EHNEBA(HSH) 100,000, 000& 100,000
ORUNMSHEHFTHZE (MO ZEFH)
70,000,000& 70,000
IS AL S (XN L 2T ALY 140,000 0 140,000
= 70,000
= 70,000
401 Al HIZ 20 140,000 0 140,000
= 70,000
= 70,000
01 Al & Hl 140,000 0 140,000
OHEESHEISSSIZELEALXIESA
140,000,000 140,000
= 70,000
= 70,000
S3SHFA L2 3,065,696 3,863, 150 AT97,454
= 800,000
= 2,265,696
g5 MEHS3E ZHAY 1,800,000 2,000,000 A 200,000
& 800,000
= 1,000,000
401 Al HIZ 20HYI 1,800,000 2,000,000 A 200,000
& 800,000
= 1,000,000
01 A& HI 1,793,520 1,992,800 2 199,280
OdRMENNsSAIEAMS  1,793,520,000& 1,793,520
= 800,000
= 993,520
03 A& 201 6,480 7,200 AT20
OHRMENSISATLEANE F0HYI
1,800,000,000& * 0.36/100 6,480
NEHSSH ZEAMS 370,000 503, 150 A133,150
401 A& HIZ 201 370,000 503, 150 A 133,150
01 A& HI 369,496 500,000 A130,504
OBYUEX BA3(22,622m) 300,000, 000& 300,000
O 22/ HEHALMALEHES 69,496,000 69,496
03 AI& 2 0HHI 504 3,150 A2,646
OANTMETNSSRAILEANY S0
70,000,000& *0.72% 504
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Hu: AME WSES X
celr BRHSALBL (Etel: &8
_ _ _ Muo
SA B G(E) - NEAY - B 0l & o i HREZ
MNEZREEHLUAY 22HAY 70,000 500,000 430,000
401 A& L TH| 70,000 500,000 430,000
01 A&l 70,000 496,400 426,400
OMBRBHHLAY 2L ALY
50,000, 00094 50,000
OMFEZZEHUAZ NBEE 0/&H|
20,000,000} 20,000
MEM2EPEXTSAY 650,000 860,000 £210,000
401 Al LS THY| 650,000 860,000 £210,000
01 A& 645,905 858, 110 ~212,205
OMEM2EREZSAY 645,905,000 645,905
03 Al & 2 CHH 4,095 1,890 2,205
OMERERRELAY S|
650,000,0002 0.63/ 100 4,095
SHNOIESH THAL 150,000 0 150,000
401 AlSH L2 THY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
OHSEHHSHOESHAS A
150,000,000% 150,000
ZOHMSUESHETAL 12,801 0 12,801
401 Al LS THY] 12,801 0 12,801
01 A&l 12,801 0 12,801
O 7.7-7.14 ST HSHZ 2B A 12,801
0 ZOIMSHE 4aH=7 12,801,000 12,801
NHIEH FHSDBA 6,276 0 6,276
401 Al &I LS THY| 6,276 0 6,276
01 A&l 6,276 0 6,276
O H9& EHE R0II 2= A 6,276
0 MEBEE SaH=R 6,276,000%! 6,276
MEYTHALZAIL $o=7 6,619 0 6,619
401 Al &I L S THY| 6,619 0 6,619
01 Al & 6,619 0 6,619
O H9& EHZE 20/ 2H=2ZAF 6,619
0. AHAUMATEAIL 25127
6,619,0002 6,619
NEEEIC R i) 1,158, 160 2,015,891 £857,731
TESIEINE 1,158, 160 2,015,891 £857,731
Ss0ENEIZ WE 50,000 100,000 50,000
702012852 50,000 100,000 50,000

_33_




SN 252
)\

o e 23
CHRl: LIS HRHNIE (S &)
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
01712852 50,000 100,000 250,000
O2UETEI2HE 50,000,000 50,000
HEXEIIS 17,000 70,000 53,000
70 II2HES 17,000 70,000 53,000
01012882 17,000 70,000 53,000
ONSAEIZ A& 17,000,000 17,000
TUMLAIY BB 1,091,160 1,845,891 AT54,731
701 JIEtS AR =2 1,091,160 1,845,891 AT54,731
01 JIEtSI HA &S 1,091,160 1,845,891 AT54,731
O SYMBANY SE3H &3 1,091,160
0 NSSUSYBBR ZHAL(BSRTAY
=) 735,000,000 735,000
0 ArFBtosEIER 29 184,620,00094 184,620
0 NSSHUSATLL +HSTANY 22
106,569,0002! 106,569
0 MSSLSAABI ALK 22
64,971,0008! 64,971
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